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N3 N=11,654 PEA N=12,621 BIRE N=19,141
BB % 2E:3¢ % BB %
HoTF>TVS 4,290 36.8 HoTF>TVB 3,584 28.4 H>TF>TND 3,463 18.1
HBHFTURL 65 0.6 BEYFITUEL 49 0.4 HEAFITURN 97 0.5
[N 7,299 62.6 A 8,988 71.2 [N 15,581 81.4
100.0% 100.0% 100.0%
@ HLfdRLHTIVI—XVPERRALEORARTSTIN? @ HLERCHTII—XVMEHALLORARTSTYH? @ HLfrBLHTIYI— XY PEHMALENRARTSTY
N3 N=11,831 A N=12,767 BiRE N=19,257
BB % 2E:3¢ % BB %
3K 602 5.1 3k 365 2.9 3K 225 1.2
3R L6RAH 2,487 21.0 3R L6 A 1,599 12.5 3R L6 1,395 7.2
ORI LIRS 4,233 35.8 ORI ETRAM 2,951 23.1 ORI LIRS 3,469 18.0
AR | 285 2,336 19.7 ARAL | 28R FH 4,313 33.8 AR | 285 6,118 31.8
1 2mM%E 52 0.4 12t 1,895 14.8 1 2mM%E 5,500 28.6
HEA T W 1,428 12.1 HEATHWRW 1,292 10.1 HEA TN 2,099 10.9
EeX AL 693 5.9 bhsin 352 2.8 EeX AL 451 2.3
100.0% 100.0% 100.0%
@a HRERT—LELETH? Da HERT—LELETH? @a HRERT—LELETH?
N3 N=11,899 PEL N=12,801 BiRE N=19,357
BB % 2E:3¢ % BB %
(=38 11,107 93.3 (=% 10,959 85.6 (=30 14,841 76.7
VWA 792 6.7 VWA 1,842 14.4 VWA 4,516 23.3
100.0% 100.0% 100.0%
@b 7—L0ERBE (BB) EMATRED @b 77— LEARAE (BB) ERATREN @b 7—L0ERBE (BB) EMATRED
NFE N=11,009 HEE N=10,888 Bk N=14,711
2E:3-¢ % EEH % 2E:3-¢ %
#airmIcren (@ELAREEALER 6,017 54.7 ®azrarcren (@RLAREELEEE 6,404 58.8 #atrmIcren (@ELAREEALER 8,291 56.4
Bi4~5E  |BIS4~5E 1,835 16.7 Blc4~5E  |iBIS4~5E 1,480 13.6 Bi4~5E  |[BIS4~5E 1,781 121
BI2~3E  |iEIc2~3E 1,596 14.5 #@iz2~3E  (i8I2~3E 1,462 13.4 Bi2~3E  |i@Ic2~3E 1,959 13.3
Bl ERE (IS ]EfRE 718 6.5 B E2E (B ] EfRE 956 8.8 B ERE (IS ]EfRE 1,668 11.3
EeL ALY AN EeL ALY AN 843 7.7 L ADLASN E e AT 586 5.4 EeL ALY AN E LAY AN 1,012 6.9
100.0% 100.0% 100.0%

@c 7-LETHHHAMLET . EIYDOTrLOT—LELTVETH @c F—LETEHKUMLET . EOYrY Lo —LELTVEI@c F—Lt T35 CKALET . EIVDY v L0 — L%

NFE N=21,218 HEE N=22,417 Bk N=27,681
EEH % EEH % EEHR %

Ry 5,859 27.6 LB~ 5995| 26.7 Ry 6,554| 23.7

ATt 1,155 5.4 O-ATATT 1 1,872 8.4 ATt 3,267 11.8

vamFavr-0 1,835 8.6 ISP 2,174 9.7 DREEDSPA 2,440 8.8

VA2 NN 3,080 14.5 FIVaT— 4 3,425 15.3 N IN 4,384 15.8

g 3,021 14.2 ZR=V =L 2,749 12.3 2,764 10.0

966 4.6 L= =0 748 3.3 581 2.1

BRRT -4 2,098 9.9 BRART—4 2,179 9.7 3,279 11.8

XN =1 2,365 11.1 RZNAT =1 2,542 11.3 RV N 3,485 12.6

FIINA—KT 1 358 1.7 FUINA=KT =1 345 15 FIINA—KT 1 416 1.5

FoTLRT =4 481 2.3 FTNRT = 388 1.7 FoTLRT =4 511 1.8

YALERT -4 2,518 11.9 DEOAS F LN 2,926 13.1 YALERT -4 3,846 13.9

Z0f 686 3.2 Z0fth 316 1.4 Z0fe 268 1.0

100.0% 100.0% 100.0%

@d F-LETHLECHETHILRHYETH? Od 5—-LETHLEREBTEILRHYITH? @d F-LETHLEHETHILRHYETH?
N3 N=11,107 PEA N=10,959 BIRE N=14,841
B % EIE# % B %

Erar 2,606 235 2,857 26.1 Erar 4,875 32.8

RELLWV 7,168 64.5 7,053 64.4 RELLWV 8,741 58.9

EeX AL 1,333 12.0 1,049 9.6 EeX AL 1,225 8.3

100.0% 100.0% 100.0%

@e H—LTORRITOVTEDSVORE (BIR) TRELETH?  De Y—ATHORRITOVTLNLSVORE (BK) TRELETH? De F'—ALTHORRITIVTLOLLVOBE (BIK) Tig!

g N=8,940 LT N=8,289 ®miE  N=11,180
EETTS % B % EETTS %
£ 75 0.8 EEE] 50 0.6 EEE) 118 1.1
vErE 883 9.9 rErsE 905 10.9 rErE 1,914 171
HEYLER 4,575 51.2 HEYLIL 5194 627 HEYLEB 6,859| 614
b BT 3,407 38.1 hAbHL 2,140 258 b BT 2,289| 205
100.0% 100.0% 100.0%
@a NETTIEORSBWH—F S0 ->E0ORVLKSTTD @a hITTIBOREEI—F S90S TTH @a NETTIENRSMH—FZ 0 ->E0ORVLKSTTD
AN N=7,234 EETS N=7,154 BiRE N=9,912
BEH % EE % EEH %
~500R 3,558 49.2 ~500A 2,765 38.6 ~500 3,220 325
500/~ 501 6.9 500~ 395 55 500/~ 556 5.6
1,000A~ 1,750 24.2 1,000~ 2,037| 285 1,000A~ 2,585| 26.1
5,000M~ 953 13.2 5,000A~ 1,186] 16.6 5,000A~ 1,644| 16.6
15 A~ 472 6.5 15 A~ 771 108 17A~ 1,907| 192

100.0% 100.0% 100.0%



@b RETHLIR FRWE (BIBOA) REKAIAKLITH? @b RETHLER REE (BIBOA) RYAAKERLETH? @b RETHLI FRBE (BIBOA)LYKAIAKLE

NFE N=9,298 HEE N=8,877 Bk N=11,913
EEHR % EEH % EEHR %
LEESES 7,042 75.7 LB 6,839 77.0 6,030 50.6
kL 375 4.0 L RN 816 9.2 4,260 35.8
bhpsen 1,881 20.2 HHLRN 1,222 13.8 kel AT 1,623 13.6
100.0% 100.0% 100.0%

@c F—LETRETEHIAGTTIRIFA—FERALLY.AD0 @c T~ LETHRETILBIEDTTIRIY—FEMALLY. B @c ¥~ LETRETIHI.AFTTIRIFH—FEMAI

NFE N=10,217 HEE N=9,830 Bk N=13,067
EE# % [BE 24 % EEHR %
—EbRn 8,661 84.8 —Eblew 6,788 69.1 —EbRn 6,700 51.3
ER— 1,196 11.7 2,190 22.3 Srererremnzeny 3,805| 29.1
[EP— 196 1.9 [EE—— 335 3.4 [EEP— 857 6.6
164 1.6 it 517 53 -t 1,705 13.0
100.0% 100.0% 100.0%

@d H2—H=(7) 219 FATREERY) ORKISHL RIE( @d o2—H— (7Y 2(9—  F1TREELY) ORBMNL BT @d 24— (7) 219 - F1TREERY) ORMKISH

N N=11,606 PEA N=12,511 BIRE N=18,792
EIE#H % EEH % EIE#H %
Hb 689 5.9 FoX 1,107 8.8 Hb 1,971 10.5
3% 8,743 75.3 (A 10,354 82.8 3% 15,444 82.2
EeX AL 2,174 18.7 bhsin 1,050 8.4 EeX AL 1,377 7.3
100.0% 100.0% 100.0%

@ ROPT—BRHATHILRENTTH?

N2 3 N=11,456 HFE N=12,156 BRE N=18,555
BB % 2E:3¢ % BB %
YouTube 6,740 58.8 YouTube 5,476 45.0 YouTube 8,407 45.3
LINE 1,406 12.3 LINE 1,978 16.3 LINE 1,530 8.2
A28 257 2.2 1229 1,954 16.1 A28 4,245 22.9
X 103 0.9 X 345 2.8 X 1,381 7.4
TzART YT 20 0.2 RER 9 0.1 TzART YT 21 0.1
TAvI I 1,628 14.2 TAvI T 2,361 19.4 TAvI T 2,958 15.9
Zott 1,302 11.4 Zoft 33 0.3 Zott 13 0.1

100.0% 100.0% 100.0%



